.

1. The item Mr Brown was being convinced to buy was priced at exactly £100.00 

more than the cooker.

2. Mrs Blade felt exceeding frustrated when the salesman did not allow her to ask questions about the cooker that he was trying to sell to her at a price higher than the freezer, which was not the cheapest.

3. The salesman really annoyed one lady when he insisted on trying to sell her a vacuum cleaner and told her this was an ideal birthday present for a husband to buy a wife.

4. The washing machine, which the salesman described as being "a creation God would be proud of," was priced at £275.00; he didn't try to sell this to Mr. Skate.

	Name 
	Surname 
	House No. 
	Dog 

	  
	  
	  
	  

	  
	  
	  
	  

	  
	  
	  
	  


Three people live in Hopper St. Can you sort out their names, house numbers & their dogs names? 
Dogs: Bob, Patch, Toby 

Names: Jim, Dick & Mike 

Surnames: Black, Turnip & Spade 

House No.s: 1,2,3 

Clue 1. Dick lives at a higher number than Mr. Spade; neither of these own Bob. 

Clue 2. Toby lives at No. 1 

Clue 3. Jim Black does not live at No. 3 

Clue 1 tells us that Dick, Mr Spade and Bob have no association with each other. We can therefore fill the table out with these 3 details: 

	Name 
	Surname 
	House No. 
	Dog 

	Dick 
	  
	  
	  

	  
	Spade 
	  
	  

	  
	  
	  
	Bob 


Clue 3 tells us that Jim Black does not live at No. 3. There is only space for this person to fit in the table with Bob the dog: 

	Name 
	Surname 
	House No. 
	Dog 

	Dick 
	  
	  
	  

	  
	Spade 
	  
	  

	Jim 
	Black 
	  
	Bob 


As there is only one space left in both the name and surmname columns; we can now fill these in: 

	Name 
	Surname 
	House No. 
	Dog 

	Dick 
	Turnip 
	  
	  

	Mike 
	Spade 
	  
	  

	Jim 
	Black 
	  
	Bob 


Clue 3 tells us that either Dick or Mr. Spade lives at No. 3. Clue 1 tells us that Dick lives at a higher number than Mr. Spade and therefore: 

	Name 
	Surname 
	House No. 
	Dog 

	Dick 
	Turnip 
	3 
	  

	Mike 
	Spade 
	  
	  

	Jim 
	Black 
	  
	Bob 


Back to clue 2: Toby lives at No. 1. There is only one place this can fit: 

	Name 
	Surname 
	House No. 
	Dog 

	Dick 
	Turnip 
	3 
	  

	Mike 
	Spade 
	1 
	Toby 

	Jim 
	Black 
	  
	Bob 


The table can now be completed: 

	Name 
	Surname 
	House No. 
	Dog 

	Dick 
	Turnip 
	3 
	Patch 

	Mike 
	Spade 
	1 
	Toby 

	Jim 
	Black 
	2 
	Bob 


  

I hope the above makes sense to you all.

If you would like to see this puzzle worked out using the grid method see below

Grid Example
Three people live in Hopper St. Can you sort out their names, house numbers & their dogs names?

Dogs: Bob, Patch, Toby , Names: Jim, Dick & Mike ,Surnames: Black, Turnip & Spade 

House No.s: 1,2,3 

Clue 1. Dick lives at a higher number than Mr. Spade; neither of these own Bob. 

Clue 2. Toby lives at No. 1 

Clue 3. Jim Black does not live at No. 3 
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	Jim

	 

	 

	 

	 

	 

	 

	 

	 

	 


	Dick

	 

	 

	X

	X

	 

	 

	X

	 

	 


	Mike

	 

	 

	 

	 

	 

	 

	 

	 

	 


	1

	 

	 

	 

	 

	 

	 

			
	2

	 

	 

	 

	 

	 

	 

			
	3

	 

	 

	X

	 

	 

	 

			
	Bob

	 

	 

	X

						
	Patch

	 

	 

	 

						
	Toby

	 

	 

	 

						

	
	Clue 1. Dick lives at a higher number than Mr. Spade; neither of these own Bob.

This clue tells us that Dick cannot be called Mr. Spade. We can now put a X in the grid where Dick intersects with Spade.

Dick lives at a higher No. than Mr. Spade, therefore Dick cannot live at No. 1 and Mr. Spade cannot live at No. 3 and we can put X's where these intersect.

Neither owns Bob and so X's can be placed also following the same principal as above.
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	Jim

	 

	 

	 

	 

	 

	 

	 

	 

	 


	Dick

	 

	 

	X

	X

	 

	 

	X

	 

	 


	Mike

	 

	 

	 

	 

	 

	 

	 

	 

	 


	1

	 

	 

	 

	X

	X
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	2

	 

	 

	 

	 

	 

	X

			
	3

	 

	 

	X

	 

	 

	X

			
	Bob

	 

	 

	X

						
	Patch

	 

	 

	 

						
	Toby

	 

	 

	 

						

	
	Clue 2. Toby lives at No. 1 

We are now able to place a [image: image20.png]


at the intersection between Toby and No. 1. 

This means no other dog can live at No. 1 and Toby cannot be at No. 2 or 3. We can therefore put X's in all these boxes. 
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	Dick

	X
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	Mike
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	Clue 3. Jim Black does not live at No. 3

This tell us Jim's surname is Black and we can place a [image: image38.png]


and X's as before. 

Jim does not live at No. 3 and so we can place a X there and also a cross where Black intersects with 3.

Dick has only one space left for a [image: image39.png]


and so he must be called Turnip. We can place a X where Mike intersects with Turnip, meaning Mike must be called Spade and we can place a [image: image40.png]


here.

Spade is not 3 and doesn't own Bob and therefore Mike must be the same. This means Jim owns Bob - place a [image: image41.png]


here. Therefore Jim doesn't own patch or Toby so place X's. 

Bob does not live at No. 1 and therefore Jim can't either. Place a X here, which means Jim must live at No. 2. Place a [image: image42.png]


here and X's against Mike and Dick. Dick must therefore live at No. 3 and Mike at No. 1. place [image: image43.png]


here. 
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	X
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	X
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	Bob
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	Toby & Mike both live at No. 1, so place a [image: image71.png]


here. Place X's for Toby and Dick, and also Mike and Patch. This means Dick must own Patch, so place a [image: image72.png]


here. 

This has actually given us all the information we need to answer the puzzle, however we can fill the rest of the grid in from the information given. 

We are then able to complete the table: 


	Name 
	 
	Surname 
	 
	House No. 
	 
	Dog 

	Jim
	 
	Black
	 
	2
	 
	Bob

	
	
	
	
	
	
	

	Dick
	 
	Turnip
	 
	3
	 
	Patch

	
	
	
	
	
	
	

	Mike
	 
	Spade
	 
	1
	 
	Toby


I hope the above makes sense to you all.  © 2004 - 2007 The Logic Zone
PAGE  
3

